

QUOTATION

Valid through 29-FEB-2024

Name DeKalb County Contact FELECIA ALSTON GREEN

Address Department of Innovation & Technology **Phone Number** 1-404-.687.2757

3630 Camp Circle

Decatur GA

30032

Email Address flalston@dekalbcountyga.gov

All fees on this Budgetary Quote are in **USD**

Renew Subscription Term: 27-Nov-2024 to 26-Nov-2025

Services Period: 12 months						
Cloud Services	Data Center Region	Quantity	Term		Unit Net Price	Net Fee
B91939 - Oracle Digital Assistant Platform for SaaS - Hosted Employee	NORTH AMERICA	6500	12 mo		0.33	25,740.00
B91110 - Oracle Integration Cloud Service for Oracle SaaS - Enterprise - 1 Million Messages	NORTH AMERICA	2	12 mo		1,200.00	28,800.00
B94872 - EDU Oracle Guided Learning Managed Service - Each (per annum)	NORTH AMERICA	2	12 mo		1,825.00	43,800.00
B95966 - EDU Fusion HCM Cloud Guided Learning Service - Hosted Employee	NORTH AMERICA	6500	12 mo		0.80	62,400.00
B95967 - EDU Fusion ERPM Cloud Guided Learning Service - Hosted Employee	NORTH AMERICA	6500	12 mo		0.77	60,060.00
B94872 - EDU Oracle Guided Learning Managed Service - Each (per annum)	NORTH AMERICA	2	12 mo		1,825.00	43,800.00
B94110 - EDU Cloud Applications Learning subscription - Hosted Named User	NORTH AMERICA	20	12 mo		303.86	72,927.00
B94112 - EDU OCI Free Learning subscription - Hosted Named User	NORTH AMERICA	20	12 mo		0.00	0.00

	Data Cautan	i			
Cloud Services	Data Center Region	Quantity	Term	Unit Net Price	Net Fee
B91084 - Oracle Fusion Enterprise Resource Planning Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	3.85	300,300.00
B91086 - Oracle Fusion Procurement Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	3.85	300,300.00
B86841 - Oracle Fusion Document Recognition Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	0.22	17,160.00
B91057 - Oracle Fusion Supply Chain Execution Cloud Service - Hosted Named User	NORTH AMERICA	10	12 mo	178.50	21,420.00
B85800 - Oracle Fusion Human Capital Management Base Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	2.85	222,300.00
B87675 - Oracle Fusion Recruiting Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	1.52	118,560.00
B95763 - Oracle Fusion Recruiting Booster Cloud Service - Hosted Employee	NORTH AMERICA	6500	12 mo	0.57	44,460.00
B86334 - Oracle Fusion Payroll Cloud Service for United States - Hosted Employee	NORTH AMERICA	6500	12 mo	1.33	103,740.00
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,187.50	14,250.00
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,187.50	14,250.00
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,187.50	14,250.00
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,187.50	14,250.00
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,187.50	14,250.00
B85242 - Oracle Fusion Learning Cloud Service - Hosted Named User	NORTH AMERICA	6500	12 mo	0.57	44,460.00
B91066 - Oracle Fusion Talent Management and Workforce Compensation Cloud Service - Hosted Named User	NORTH AMERICA	6500	12 mo	1.71	133,380.00
. 100104 14411104 0001			Subtotal		1,714,857.00

Expansion On or After 27-Nov-2024

Services Period: 12 months						
Cloud Services	Data Center Region	Quantity	Term	Un	nit Net Price	Net Fee
B84490 - Oracle Additional Test Environment for Oracle Fusion Cloud Service - Each	NORTH AMERICA	1	12 mo	1,1	187.50	14,250.00
			Subtotal			14,250.00

Fee Description	Net Fee
Cloud Services Fees	1,729,107.00
Net Fees	1,729,107.00
Total Fees	1,729,107.00

This pricing example is provided for evaluation purposes. This quote is intended to further our discussions, it is not eligible for acceptance by you and is not a part of a binding contract between us for the products and/or services specified. User minimums and licensing rules may apply to the products specified. If you would like to purchase the products and/or services specified in this draft quotation, please ask Oracle to issue you a formal Quote (which may include an Oracle agreement if you do not already have an agreement with Oracle) for your acceptance and execution and return to Oracle. Your order will be effective only upon Oracle's acceptance of the formal Quote (and the Oracle agreement, if required).

CPQ-3329321 - 1 Issued by Oracle America, Inc. 20-FEB-2024